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4 KE AR
(1) (R HRALE K

I8 H A 44 54 A 7H H 9H 10H 114 12H 1H 2H 3H

— EWH — 5HS8H [6H19H [ 7H17 SH21 OH25H [I0H 2901119 — — — —

i o B H - 5A30H [ 7H10E | 8A8H | 9H10A [10H19H][ 11H6H | 12H7H - - - —

IKEAL VS 5.8~8.6 — 7.3 8.6 7.8 7.3 10.4 7.4 8.2 - - - -

BOD mg/1 60 - 0 0 0 0 7 0 0 — - — =

COD mg/1 = - 8 6 5 3 14 4 3 - - - -

SS mg/1 60 — 4 9 0 0 15 19 2 - - - -

ENER me/] — — 9.65 7.73 6.94 1.63 5.17 2.26 1.86 - - - -

A H - - 6H25H - - - - - - - - -

i e B f H - - 7TH19H - - - - - - - - -

BRIV LR OZDOLEY] meg/l | 0.03 — - <0.003 - - - = — = = = —

T AEED) mg/1 1 - - <0.05 - - - - - = = = —

B &) mg/] 1 - - <0.1 - - - - - - - - =

Kk OZ D EW mg/l | 0.1 - - <0.005 - - - - - - - - -

N A= | Rt 7] mg/l | 05 - - <0.02 - - - - - - - - -

BEROTOMGY | me/l | 0.1 - - 0.013 - - - - - - - - -

ABEROT VI APEOMOKGUEEM]  mg/] 0.005 — — <0.0005 - - - - - - - - -

TV KRG E ) mg/l |miisnmncy - - g - - - - - - - - -

HRVELE 7 ==L mg/1 | 0.003 - - <0.0005 - - — - = = — — —

NUEEES mg/1 0.1 - - <0.0005 - - — - - = = = =

A mg/1 0.1 - - <0.0005 - - — — — — — — —

T Iuuity mg/1 0.2 — - <0.0005 - - - = — = = = =

e e mg/1 [ 0.02 - - <0.0005 - - - — — = = = —

1,2 /aaxhy mg/1 | 0.04 — — <0.0005 - - - — — = = = =

1,1-> J7epxfly mg/] 1 - - <0.0005 — — — — — — - - -

Y A-1,2- /auxgLy mg/1 0.4 — — <0.0005 = = - = - — = = —

1,1,1-FJoazdy mg/1 3 — - <0.0005 - = = = = — — - —

1,1,2-F)yonzyy mg/l | 0.06 — - <0.0005 - - - - — = = = =

13— /an7u~y mg/1 | 0.02 - - <0.0005 - - — - - = = = =

FIT A mg/l | 0.06 — - <0.006 - - - - - = = = —

D mg/1 | 0.03 — - <0.003 - - - = — = = = —

FA TV T mg/1 0.2 - - <0.0006 - - - — — = = = =

NP mg/1 0.1 - - <0.0005 - - — — — = = = —

ELUKROZDEY | mg/l 0.1 — — 0.001 — — — — — — — — —

io%&(}%aﬂf\% mg/1 50 — — 0.04 = = - — - = = = —

SZ K OZDEY | mg/l 15 — — 0.17 — - — — — — — — —

LA4-A XY mg/1 0.5 — - <0.005 - - - = — = = = —

) —)LIH mg/1 5 - - <0.5 - - - - — = = = —

M O DA mg/1 3 - - <0.02 - - = — — = = - —

Fikan &U%Mh/\% mg/1 2 — — <0.01 — — — - — — — - —

BB OO GRS | mg/1 10 - — <0.02 — - - - — — = = =

~ B R OEDLE (i) | me/l 10 - - <0.01 - - - - - — — —

78 LM OZDEY | mg/l 2 — - <0.02 - - — — = = = = —

TURST R, TSR ORI R A R me, 1 200 - - 3.2 - - — — — — — — —

LVt A Y me/l 5 - - <1 - - - — — — — - -

BEALH - - 6 H25H - - - - - — - - -

i R B — - 7TH19H - - - - - - - - -

B AFZX U HE [pe-TEQ/L] 10 0.000093 - - - - -
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(2) K ()

TE H | A N 45 54 A 74 A 9H 104 11H 12H 1H 2H H
P H - 5H8H [6H19H [ 7HI7 SH2IH [9H25H [10H20H 11 IOH[ [2H6H - - SHIOH |
i R B A - 5H30H [7H10H [ 8H8H [9oHI0H [10H19RA] 11H6H [ 12H7H [ 12H6H - - 3H19H
| FExEE | mS/m [ — - 2.8 2.3 2.8 2.6 2.6 2.1 3.3 3.7 - - 3.7
B H - - 6250 — — — — — - = = =
i i H — — 7TH19H - - - - - - - - —
7 )L )L K ER me/l |misnzoce — — A HY — — — — — — — — —
KR mg/l | 0.0005 — — <0.0005 — — — — — — — - —
HREIT A mg/l [ 0.003 — — <0.0003 — — — — — — — — —
& mg/l [ 0.01 - — <0.001 — — — — — — - — —
AN IZA=E mg/l | 0.05 - - <0.005 - - - - - - - - -
i mg/] 0.01 — — <0.001 — — = — _ - - - —
/jé‘f/T‘/ me 1 [|muishmoze — — Z: ﬁtf _ _ — — — — — — —
ﬂ'sUiJﬁ'ﬂjt\\7:|::/l/ mg/l | mibisneecy - - g H - - - - - - - - -
NUEEES mg/l [ 0.01 — — <0.0005 — — — — — — — — -
S S A mg/l | 0.01 — — <0.0005 - - - — — — — — —
VA=Y % mg/1 [ 0.02 — — <0.0005 — — — — — — - — —
RERAres mg/l | 0.002 - - <0.0002 - - - - - - - - -
1,2=/unzhy mg/l [ 0.004 - - <0.0004 — — — — — — — — —
1,1 /auxFLy mg/1 0.1 — — <0.0005 — — — — — — — — -
L2y pensly (AR Or AEoasm | me/l 0.04 — — <0.0005 — — — — — — — — —
1,1,1-N)Jaaziy mg/1 1 - - <0.0005 - - - — — — — — —
1.1,.2-Njanzhy mg/1 [ 0.006 — — <0.0005 — — — — — — — — -
1.3— /nu7u~y mg/l [ 0.002 — — <0.0005 — — — — — — — — -
FUZ L mg/l [ 0.006 - - <0.0006 — — — — — — — — —
S~ mg/l [ 0.003 — — <0.0003 — — — — — — — - —
FE_UTIVT mg/l [ 0.02 — — <0.0006 — — — — — — — — -
~ P mg/l [ 0.01 - - <0.0005 - - - — — — — — —
L mg/1 [ 0.01 — — <0.001 — — — — — — — — -
LA—FF T mg/l [ 0.05 — - <0.005 — — — — — — - — —
e~ me/l | 0.002 - - 0.0002 - - - — — — — — —
L H = = 6H25H - - - - - - - - -
s he B A — - 7TH19H - - - - - - - - -
% [pe-TEQ/L] 1 — - 0.061 - - - — — — — — —
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(3) HuF7K (Fit)

Ia H | A S 44 54 H 7H H 9H 10H 114 12H 15 2 H H

— A - 5H8H [ 6HI9H [7HI7H [8H21 9250 [T0H 20011 I9H] 1261 = = 3H19

T A - 5H30H | 7H10H | 8H8H [9H10H [10H19H[ 11H6H | 12H7H [12H6H - - 3H19

RS [ mS/m [ - - 35.5 4.5 34.4 4.9 5.5 4.3 3.9 5.4 - - 25.1
T H - = 6250 - - - - = - - - -

it A< X H - - TH19H - - - - = — — = -

7 L )L KER mg/] |misnaoce — — Z(*ﬁﬂj — — — _ — — — — —
KK ER mg/1 | 0.0005 — — <0.0005 - - — - — - - - -
HEIT mg/1 | 0.003 - - <0.0003 - - - - - - - - -

& mg/l | 0.01 - - <0.001 - — - - - - - - —

N7 a2 mg/l | 0.05 - - <0.005 - — - — - - - = —
fitts2 mg/l | 0.01 — — <0.001 — — — — — - - - —
BT mg/1 | mishmce — — N — — — — — — — — —
ﬂfutﬁﬂjlf7::::/l/ mg/] | misnmce — — kg H — — — — — — — — —
NVEEES A mg/l | 0.01 — — <0.0005 - — — — — = - - —
VAVZLEEES A0 mg/l | 0.01 - = <0.0005 — - = - - - - - -
DU % mg/1 | 0.02 - - <0.0005 - — - — - - - - -
DU AR 5 mg/l | 0.002 - - <0.0002 - - = - - . = ~ =
1,2 /aaxhy mg/1 | 0.004 - - <0.0004 - - - - - - - - -
1=V /aexyly mg/1 0.1 - - <0.0005 - - - - - - - - -
L2y punzly Ak or 2 oai®]  me/l 0.04 - - <0.0005 — Z - _ = = — = —
1,1, 1-FJapzyy mg/1 1 - — <0.0005 — — — — _ = - - —
1,1,2-F/uazdy, mg/1 | 0.006 - - <0.0005 — - - - - - - - —
1.3—7/aa7n~y mg/1 | 0.002 - - <0.0005 - - = = - - - - -
FT A mg/1 | 0.006 - - <0.0006 = — - — - - - = —
e mg/1 | 0.003 = = <0.0003 - - — — - - - - -
TA TN T mg/1 0.02 - — <0.0006 — — — - - - - - -
N mg/l 0.01 - - <0.0005 - - — — = _ Z — =
L mg/1 | 0.01 - - <0.001 - - - - - - - - -

L4- A% Y mg/1 | 0.05 - - <0.005 - — - - - - - - -
ElE =)~ — me/T | 0.002 - - <0.0002 - = - = - = — — -
TRIX - - 6H25H = = — = = = = = =

i A U H - - TH19H - - - - = — — = -
FAFF A e TEQL] - - 0.041 - - - - - - - - -




